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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

Use of calculator is not permitted.

GUug-37 / SECTION-A

9 G 1 44 H Tk Bl 1 37 2

Question numbers 1 to 4 carry one mark each.
1 frafafad dens § 9§ s sfts e sifeu| 1
75 ;\7; g ; /0.04

Identify an irrational number among the following numbers :
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75,7, g J0.04

2 Ifc FIg9e 6x2 +x—1 3x—1

If 3x —1 is a factor of the polynomial 6x2+x —1, then find the other factor.

3 AB 3R CD O W Yfq=eg Xt & | Tifag@ o & i o =W fafem)

C B

In the figure, two lines AB and CD intersect each other at O. Name pairs of vertically opposite

angles.
A

(@)
C B

4 6 D@, — 6) | x-318 ¥ T fafEw |

Write the distance of point D(3, — 6) from x-axis.

Eus-4 [ SECTION-B

1159 10 7 TS & 2 3% T
Question numbers 5 to 10 carry two marks each.

5 1

z = 0.064, (1)3 ST T 0 ST |
Z
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1
If z = 0.064, then find the value of(lj3 )
Z

6 e (2 +5y)3 = 8x3 + 1253 + ax2y + bxy2 §, T b—a & 71 1T | 2

If (2x +5y)3 = 8x3 + 1253 + ax?y + bxy?, then find the value of b—a.

7 Ifg P, Q 3iRR forelt T W = foig frera € qen Q foiged P eTR R & o= # feea §, @ fag wifsm 2
% PQ+QR=PR

P Q R

If P, Q and R are three points on a line and Q lies between P and R, then prove that
PQ+ QR =PR (see figure).

P Q R

8 < g ersfa §, AB @1 "ea-fig O &, ZCAB=ZABD ' /DOA=~/COB 2
ACOA = ADOB % |

In the given figure, O is mid-point of AB, ZCAB= ZABD and ZDOA = ZCOB.

D. C
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Prove that ACOA = ADOB.

9 sThfa 4, fagsii A, B, C 3iR D & fcwries <ifse 2

From the figure, give coordinates of points A, B, Cand D :

~

10 foRelt 9T 1 YSIT 70 cm, 80 cm 317 90 cm ¥ | T80T &5hel F1d FIfST | ({5 = 2.23 1 TAMT 2
)

Sides of a triangle are 70 cm, 80 cm and 90 cm. Find its area. (Use 5 = 2.23)

-® / SECTION-C

U9 @71 119 20 H UIF & 3 |

Question numbers 11 to 20 carry three marks each.
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65!’7“41?5‘”?[%’ S 3

a

11 ?Tﬁia=1+«/7

If a=1++7, find the value of —6
a

12 x=3+2ﬁ%,ﬁﬁ+%aﬂqﬂaﬁaﬁ'm| 3
X
Ifx=3+2\/§;findthevalueof\/; i
N
B (2dx 1) # vaifa Fif 3
Expand (2\/; 1)3.
14 3x4 —4x3 —3x— 1 FIx— 1 T 9 SIST qUT 3HF ATHS IR ATHSA AT BT | 3

Divide the polynomial 3x* — 4x3 —3x— 1 by x — 1 and find its quotient and remainder.

15 uw fays ABC & AB #7 BC X SRy ¥ aﬁ'BX—%AB BY—%BCSﬂT 3
AB=BC %, 1l 950 f% BX=BY
In a triangle ABC, X and Y are the points on AB and BC respectively. If BX = %AB and
BY = % BC and AB=BC. Show that BX=BY.

16 <1 7 @menfa o, S PQR &1 95T QR 41 S g1 afg LPQR 191 /PRS & THfgei® 3

TR faera €, @1 fag it ZQTR %LQPR g
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Pi 7T
Q R S
In the figure, the side QR of APQR is produced to a point S. If the bisectors of Z/PQR and

ZPRS meet at a point T, then prove that ZQTR % ZQPR.
Pi 7T
Q R S
17 fa3 #, AB||CD, ZAPQ=50° "= ZPRD=125°%| y—x 3
A P B
50°
A 125
Kefe R D
In the figure, if AB||CD, ZAPQ=50°and ZPRD =125°, find y — x.

A P B
50°

) 4 125°

CcQ R D

18 @Rl 1 Tk fader War e, d fag SIS 2fd: TwR vl & THfgyTSe 99 3
B ¥

If a transversal intersects two parallel lines, then prove that bisectors of alternate interior

angles are parallel.
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19 % AABC A(6,9), B(—6,12) 31T C(12, —6)  YST3ii AB, BC 3R AC
AB+AC>BC?|

Draw a AABC, whose vertices are A(6, 9), B(—6, 12) and C(12, —6). Measure the lengths of
sides AB, BC and AC. Verify that AB+ AC > BC.

20 128 m &1 39 fasol W 9
227 m 3173 m

In a four sided field, the length of the longer diagonal is 128 m. The lengths of the
perpendiculars from the opposite vertices upon this diagonal are 22.7 m and 17.3 m. Find the
area of the field.

@ / SECTION-D

T 21 31HYTF H 4R T

Question numbers 21 to 31 carry four marks each.

21 .F\qa_&,. Elﬂ'ﬁrl'q .i%ﬁ . a_l a_l 2 b2

alpl alpl b2 a2

al al 2 b2

Prove that .
alpl alpl b2 a2

22 3 <1 9wy genei o fafay, f5ae
() AT TH 9T e B
(i) I TH 9T G T
(i)  TOM T TREE @ T |

(iv) foasH T 9 gen B

Sire off SifST
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23

24

25

26

27

Give two rational numbers whose :

(i) difference is a rational number
(if) sum is a rational number

(iii)  product is a rational number
(iv)  division is a rational number

Justify also.

(x+y)3+ (y+z)3+ (z+x)3—3(x+y) (v+2)(z+x)

= 2(x3—l—y3+23—3xyz)%l
Prove that (x+y)3+ (y+z)3+ (z+x)3—3 (x+y)(ly+2)(z+x)
= 2(x3+y3+z3—3xyz).

—3 3R 4 203 —3x2—23x+12 % Y=H ¢ | Afc @, T FgIg H
UG EA ShIfST |
Verify if —3 and 4 are zeroes of the polynomial 2x® —3x? —23x +12. If yes, then factorise the
polynomial.

. 3 2
ﬂ”ﬂ'@@'?m"' fSTq 12y +y —2y—1
Factorise : 2y3 +y2— 2y—1

areqe H EA w1 AR R T, (= 1)3 4 (= 2)3+ (= 3)3+ (—4)3 +2(5)% &I A 1 HIfST | o™
TeqTHeRT 1 WA g7 B, 9% of fafaw

Without actually calculating the cubes, find the value of (—1)3+(—2)3 +(=3)3+ (—4)3+2(5)°.
Also write the identity used.

foaeneffdi 9 7 % % 9N | YB11 WIR A Fal foh SHH g
3 GUH €| TgA 1 el [ SR e 9 & TAE T 384 a9 foenedf4i o1 7o IR Tga &

HT HIF 91 SRR SHF ST HT GHLT HLa1 &1 9 & O Rl Fepid fafa |

For her records, a teacher asked the students about their heights. Mayank said his height is
same as of Anav. Rahul said that his height is same as that of Anav. She then asked the
students to relate the height of Mayank and Rahul. Anav answered, they both have same
height. Is Anav correct ? If yes, state Euclid's Axiom which support your answer. What are
the characteristics of Anav nature ?
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28 THIRIUT g—35 =75 I B DI | FHH Ffere & fory @ a29 1 ITAN gaT? 38* Al 4

Solve the equation @ —35 =75 and state which axiom you use here. Also give two more axioms other
than the axiom used in the above situation.

29 feu 7w fo & AB||DE €1 «BCD 314 &hifsiu | 4
D E |
120°
C

In given figure AB || DE. Find #BCD.

D E
A B 115°

120°

Y

30 g ST for Tk s & AT Il &1 AR QA AR BT B 1 AR Tk TR S § A 4
~<eTE &, 1 =T IO 1 [ IS |

Prove that the sum of three angles of a triangle is two right angles. If in a right angled triangle
an acute angle is one-fourth the other, find the acute angles.

31 mﬁﬂaav_W(x—40)°,(x—20)°3ﬂ'{(% —10)0 ¥ x %1 O 9 FIRC qe e frags & o 2

The angles of a triangle are (x —40)°, (x—20)° and (g - 10) . Find the value of x and then the

angles of the triangle.
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